
A

B

C

D
E

F

G

H

2X

2X

16X

2X
18X

4X

1X

1X

4X

1X

K

M4x30

M6x20

M6x35

Ø6x40

M6x40

L 12XM4x15

Page 1 of 3

(1) = 1X

(2) = 1X

(3) = 1X

(4) = 1X

(5) = 1X

(6) = 1X

(7) = 1X

(8) = 1X

(9) = 1X

DE-MONTAGEANWEISUNG
FR-INSTRUCTIONS DE MONTAGE
IT-ISTRUZIONI DI MONTAGGIO

ANCONA
7531.422.000.00

- ZWEI PERSONEN
FÜR DIE MONTAGE
- DEUX PERSONNES
POUR LE MONTAGE
- DUE PERSONE
PER IL MONTAGGIO
- ZEIT: 15 MINUTEN
- TEMPO: 15 MINUTI
- TEMPS: 15 MINUTES

M 1X



Page 2 of 3

B

C
A

C

E

E

D
1

2
3

4

E

E

E

5

1/9 2/9

E

E

F

6

3/9 4/9



E

E

E

Page 3 of 3

8

L

K

K

K

K

L

9

G

H7

M

5/9 6/9 7/9

8/9 9/9


	Page 1
	Page 2
	Page 3

